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1. CRR:  Dismissal for cause 
a. Taskforce has met for the first time 
b. The goal is to protect the faculty -1.315.7 (ty -1.
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i. The age demographic may be different for undergraduates especially in urban 
campuses  

1. Exceptions later in the policy 
2. Some exceptions need to be stated earlier in the policy 



e. Status: Put these edits on hold and bring up again after COVID 
5. Finance update (Ryan Rapp)_ 

a. Challenge is to understand long term ramifications  
b. 



a. Contract worth $300 million with pharmaceutical firm to use in 
cancer treatments     


